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P=ab(a—b)+bc(b—c)+ca(c—a)

&S JInmefant
P=ab(a—b)+bc(b-c)+ca(c—a)

= a’b—ab® +b’c—bc? + c’a—ca’

—a’b—bc? +b°c—ab® +c’a—ca’

=b(a—c)(a+c)+b°(c—a)+ca(c—a)

= (c—a)(-b(a+c)+b? +ca)

= (c—a)(—ab—bc +b® +ca)

=(c—a)[b(b—a)—-c(b—a)]
P=(c—a)(b—a)(b—c)

41.188] P(X) = L+ X+ X" +---+ x%)? — X

Gigditegs P(X) tna R(X)-Q(x)
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BN S P(X) = L+ X+ X2 +-- -+ x712)2 — (x19°)?

=(1+X+---+X2012 _Xlooe)(1+x+m+X2012+X1006)

=L+ X4+ X0 0 P e A X
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& JInmefant

03 =81+12
-81+9+3=3*+3°+3| 9
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&S M S AT
70=64+6

=64+4+2=[2°+2°42

45. 15 8j a>b >0 13)1hh 3a° +3p* =10ab 1 iAAlY
-b

Areny P=2 2 4
nEg! a+b
&S GIAmefanti
2 5 2
p_2a- b[m 2 _ (a—bj _a"—2ab+b
a+b a+b a’ + 2ab + b

3(a® +b” — 2ab)
3(a® +b® + 2ab)
3a° +3b° —6ab

" 332 +3p% + 6ab
10ab — 6ab

:10ab+6ab
_ 4ab _1
16ab 4
p- [to|d (a>b>0)

P? =
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46. 5G] x>y >0 Ig]ag i 2x° +2y* =5xy 1 innly
X+ Y
ISP S=—-—- 1
STISH X—y
&S M ST
X+Yy > (x+y) X2 +2xy +y?
N e
X=Y X—=Yy X® —2Xy +Y

2(x% + y% + 2xy)

S% =
2(x% + y% — 2xy)

_2X% +2y° +4xy
2X% +2y% — Axy
_ OXY +4xy
oxXy —4xy

S=49=|3 (x>y>0)

47. 166] ab =11 Uty UM A th:
a’+b° =(a*+b*)@° +b*)—(a+h)

& JInmefant
(a® +b°)(@® +b?)—(a+b)
—a° +a’b*+a’b’ +b°>—a-b
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—a®+ ()2a+(W)2h+b®—a—b , (ab=1)
—a’+a+b+b>—a-b
=a’ +b’

48. 178JIG§S a,b,cig)athanugenn abc =2012

GIANNSIEIYISAISNY
2012a b C
P= + + I
ab+2012a+2012 bc+b+2012 ac+c+1
& GInmefant
B 2012a . b Loc
ab+2012a+ 2012 bc+b+2012 ac+c+1
a‘bc b C

- n +
ab+a’bc+abc bc+b+abc ac+c+1
(1{fm: abc =2012)

- a’hc . b L, C
ab+a?bc+abc bc+b+abc ac+c+1

~ ab-ac N b L C
ab(l+ac+c) b(c+l+ac) ac+c+1
ac 1 C

= + +

l+ac+c c+l1l+ac ac+c+1

_l+c+ac 1

l+c+ac
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(@n
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ginmmn[g[Sntsyﬁ
1 1 1
S = + +
l+a+ab 1+b+bc 1+c+ca
&S M S UL
1 1 1
— + +
l+a+ab 1+b+bc 1+c+ca
abc abc 1

= + +
abc+a+ab abc+b+bc 1l+c+ca
1y abc =1)

B abc N abc N 1

a(bc+1+b) b(ac+1+c) 1+c+ca
bc ac 1

= + +

bc+1+b ac+1+c 1+c+ca
bc ac 1

= + +

bc+abc+b ac+1+c 1+c+ca
bc ac 1

= + +

b(c+ac+1) ac+1+c 1+c+ca
C ca 1

= + +

l+c+ca 1l+c+ca 1l+c+ca

~l+c+ca 1

1+c+ca
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a+b=c+d (1
IE TN S
ab+l=cd (2
my)siegja=c+d—b tgaun(2)tams
(c+d-b)b+1=cd |
bc+bd —b* —cd =1
bc—b%+bd —cd =-1
b(c—b)—d(c—b)=-1
c-b)b-d)=-1
lihwa, b, c, dMGSSAfGYMA A MMS
c—b=1 c—-b=-1
U
b-d=-1 " |b-d=1
- [C=b=1
= [N
{b—d:—l
imnms c—b=—(b-d) s1gjc=d
-~ |[C—b=-1
= [N
{b—dzl
imnms c—b=—(b-d) s1gjc=d
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51. IHG] a+b+Cc= 180 T4iitog

a b c
ﬁ@mma +b? +c? =11

& GInmefant

a+b+c=11s1: (a+b+c)? =1
a2+b2+02+2(ab+bc+ca):1

a® +b% +¢? =1-2(ab+bc +ca)

1 1 1 01 bc+ca+ab 0

ng abc

bc+ca+ab=0
NS a2 +b%+¢%2=1-2(0)=|1] 1
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52. [ﬁ[ﬁlj£+1+1:2 St a+b+c=abc
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a2 b? c? ab bc ca
1+1+1=4_2(1+1+1J
a2 b? c? ab bc ca

4> c+a+bj

abc
:4—2-§E) , (a+b+c=abc)
abc
=4-2=|2

53. Uy NAtIY a, b, c MUGgsiduIgama

a+b+c= 2():].28%f|£+1+1 iI§81 [nmSni‘J

a b c 2012
GINMUGSSFNU a, b, c SGS8YsIaI8h 2012

& GImefant
[ﬁm81+l+l= 1 Im:2012=a+b+c

a c a+b+c
1 1 1 1
a b c¢c a+b+c

a+b+ a+b

ab c(a+b+c)

(a+b) L + L

ab c(a+b+c)
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(a+b)(c(a+c)+b(c+a))=
(a+b)(a+c)(b+c)=0

mAmms a+b=0ya+c=0yb+c=0

» fitAna+b=0

Ity a+b+c=2012 11: ¢c=2012

« fitAna+c=0

It a+b+c=2012 i1: b=2012

= fiANb+c=0

Ity a+b+¢c=2012 1: a=2012
JGIS: AnGInmMuGgseInd a, b, c MISGSSYLw
mj:éﬁZélZﬂ

54. 1agjUGgsIgma, b, ¢ fnnuig)atha
ab+bc+ca=11annnaigisAIgpunngmy:
_(@a+b)’(b+c)’(c+a)’
- (L+a®)(L+b*)(L+c?)
(a® + 2bc —1)(b* + 2ca—1)(c* + 2ab — D .
(a—b)*(b—c)’(c-a)’

2. B=
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,Efu[[lm  [FUTET
(a+b)?(b+c)*(c+a)?
1+a%)(1+b?)(1+c?)
Ity ab+bc+ca=1Iimms

f. A=

«1+a®=ab+bc+ca+a’
=b(a+c)+a(c+a)=(a+b)(a+c)
«1+b?=ab+bc+ca+b?
=a(b+c)+b(b+c)=(a+b)(b+c)
«1+c% =ab+bc+ca+c?
=b(a+c)+c(a+c)=(b+c)(a+c)
1G]

- (a+b)?(b+c)°(c+a)’

B (a+b)(a+c)(a+b)(b+c)(b+c)(a+c)
(a% + 2bc —1)(b” + 2ca —1)(c* + 2ab —1)
(a-b)’(b-c)*(c—a)’

ity ab+bc+ca=1Imms

=1

8. B=

ca’+2bc—ab-bc—ca=a’—ab+bc—ca
=a(a—-b)-c(a-h)
=(a-b)(a-c)
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«b?+2ca—ab—bc—ca=bh?—-ab—bc+ca
=b(b—a)-c(b—a)
=(b—-a)(b-c)
.c’+2ab—ab-bc—ca=c?-bc+ab-ca
=—c(b-c)+a(b-c)
=(b-c)(a—c)
(a-h)*(@a-c)’(b—c)°
(a-h)*(b—c)*(c-a)°

=[-1

S16] B=-

55. 16Gj a+b+c=0 81 a® +b* +c* =147
annsaigisaisny P=a® +b* +c¢* 7

& JImefant
«a’+b%+c’ =14
(@ +b” + %)% =14% =196
a* +b* +c* + 2a’b? + 2b%c? + 2c%a® =196
at +b* +c* =196 - 2(a’h® +b%c? +c%a®) (1)
ea+b+c=0

a’+b?+c*+2ab+2bc+2ca=0
14+2(ab+bc+ca)=0

ab+bc+ca=-7
(ab +bc +ca)® =49

a’b? +b’c® +c’a’® + 2ab%c + 2bc’a + 2ca’b = 49

I Ut{?ﬁtmw. A7 1§ 43. SV



BONHISHAUT ORI A

a’b® +b°c? +c®a® + 2abc(a+b +c) =49
0

a’h”® +b%c® +c%a® =49 (2)
W (2) ngeunn (1) IHms
a® +b* +c* =196-2(49)=196-98=|98|

56. 18 G] X=by+cz, y=ax+cz, z=ax+by §i

X+y+z#0

1 1 1
_|_

ANNSIATYISAISNY S = +
1+a 1+b 1+c

& GInmefant
IS X=by+cz, y=ax+cz, z=ax+by

INS X+y+z=Dby+cz+ax+cz+ax+hy

X+y+z=2@x+by+cz) (*)
NSeU by +cz=x A (*)Isms
x+y+z=2(a'x+x)=2x(a+1)
12X

l+a X+Yy+z
JomEgaiax+cz=y8hax+by =zguegdmi(*)

[=3

- 1 2V o 1 217
PRGOS = S 1 =
1+b Xx+y+z l+c X+y+z
o 1 1
S1G] S = + +
l1+a 1+b 1+c
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X+Yy+2Z X+y+Z X+y+z

_2(x+y+z) 5] 4
X+Yy+12
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57.18G] ~ + ) = L gn 2 4y?=11pnwomns
a

a+b

f. bx* =ay”

; X2012 N y2012 - 2
a1006 blOOG (

)1006 ]

a+b

&S JImefant

f. bx* =ay’
x* . vyt 1 (XP+y%)°
a b a+b a+b

bx* +ay* _ x* +2x%y* +y*
ab a+b
(a+b)(bx* +ay*) =ab(x* + 2x°y? + y*)
abx* +a’y* + b%x* + aby* = abx* + 2abx*y® + aby*
a’y* +b?x* —2abx?y* =0
(ay® —bx?)* =0
ay’ —bx? =0

(X +y% =1)
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bx* = ay” 8ig] —=
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b a+b a+b
“ 1 fxzolz B 1
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mme & ath . ) (2+b)
y2 1 y2012 ) 1
\ b a + b \ b1006 (a n b)1006
2012 y2012 5

1006 + 111006 - ( g b)lOOG L
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58. I5iG] a+b+c+d =0
sinmw a® +b° +¢® +d° =3(c+d)(@ab—cd)

& JImefant
lintis a+b+c+d=0IamMS
(a+b)=—(c+d)
(a+b)’ =—(c+d)*
a®> +b®+3ab(a+b)=—c*-d®-3cd(c+d)
a’+b®+c®+d3=—3ab(a+h)—3cd(c+d)
=3ab(c+d)—3cd(c+d)
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Ifm: a+b=—(c+d)
=a(c+d)(ab—cd)
guIse |a® +b® +¢® +d® =3(c+d)(ab—cd)|

59. IfiGg] a+b+c=0

1
ginmm a*+b*+c* =E(a2+b2+cz)2 y

& GInmefant
Ity a+b+c=0mms a+b=—
s16j (a+b)* =c°

a‘ +b? +2ab=c?

a’ +b% —c? =—2ab

(a% +b? —c?)? =4a°b?

a* +b* +¢* + 2a%bh? — 2b*c?® — 2c%a® = 4a°h?
a* +b* +c¢* =2a°b® + 2b°c? + 2c%a’

2(@* +b* +¢*) = (a® +b* +¢?)?

a* +b* +c* :%(a2 +b2+cz)2

1
guis: |a® +b* +c* =§(a2 +b% +¢%)?| 1

60. 1nGj0GSS a, b, ¢ fnuig)aa a+b+c=0 &
a®+b®+c” =k
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61. 1G] a+b+c=1, a’ +b%+c? =1 Sij—:lz—”]

a b c
GIEUIWUEMA Xy +yz+2x=0 1
&S M S [FUTT
RS
X Z X+Yy+ZI X+Yy+1z
a b ¢ a+b+c 1
2 2 2
X Z
M8 (x+y+2)° == =L
a“~ b° ¢
CXP 4yt iz’
a® +b* +c?
Xyt 47
1
=Xx? +y% +2°

X2+ Y2+ 22 42Xy + Yz + 2X) = X° + y© + 2°
2(xy +yz+12x)=0
Xy+yz+z2x=0
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62. IGNSUGSS a, b 8§11 ¢ 1 GIpIWBENAN
a’+b*+c®—3abc=(a+b+c)@*+b°+c*—ab—bhc—ca)

&S M ST
it (a+b)® =ad +b® +3ab(a+b)
i s ad+b® =(a+b)® —3ab(a+h)
1G]
a®+b* +c> —3abc = (a+h)* —3ab(a+b)+c* —3abc
=(a+h)’+c’ -3ab(a+b+c)
=(a+b+c)[(a+b)*—c(a+b)+c?]-3ab(a+b+c)

= (a+b+c)(@® +2ab+b* —ca—bc+c” —3ab)

= (a+b+c)@® +b* +c” —ab-bc—ca)

a®+b®+c®—3abc=(a+b+c)@® +b*+c*—ab—hc—ca)

63. 1G] a, b §1 ¢ mTGgsIgs [Huig)hha
ab+bc+ca=0 1
smmm (a+b)(b+c)(c+a)+abc=0

&S GInmefant
[Nty ab+bc+ca=0 I5MS




abc(a +b)(b +c)(c + a) = —a°b*c?

(a+b)(b+c)(c+a)=—-abc ,abc=0
(a+b)(b+c)(c+a)+abc=0
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64. ING] gzg iiru a,b,c,d=08nc+d=09

ab (a+b)
cd  (c+d)?

GBI U M A

&S TIM AL
a ¢ a b a+b
IS —=— U —=—=
b d ¢ d c+d
UE_a+b b a+b
c c+d d c+d
a b a+b.a+b

R cd c+d c+d
} ab (a+h)’
HGIS = ‘]
’ cd (c+d)°

X Z -
%ng—+l+—=1mjﬁ+9+2:01
a b c X Yy z



(=Y

Mnaignu o ayolsthA§e

2
RS 2+ Y+ 2 =1 1G] (§+X+Ej =1
a C a b c
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x2+y2+22+2(xy+yz ijzl
a~ b ¢ ab bc ca
2 2 2
x2 .\ y2 . z2 +2(ny+ayz+bsz:1
a“~ b® ¢ abc
2 2 2
x2+y2+z2 _1_2(cxy+ayz+b j
a-~ b® ¢ abc
fﬁ§+E+E:O
X Yy z
1G] ayz+bzx+cxy20[m ayz +bzx +cxy =0
XYz
2 2 2
goiss A=+ L L1 2(0:}:1
a® b* c? abc

66. 176]0G§S a, b&h c Iuiglamangenn§ind
m{mus a®+2b+1=0,b* +2c+1=0 §i
¢’ +2a+1=0 1

annsnigisuuyn S =a” "t + b 4 ¢
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&S G,  [FUTET
IHMS (% +2b+1) +(b° +2c+1) + (c* +2a+1) =0

a’+2a+1+b%+2b+1+c®+2c+1=0
(a+D)%+(b+1)%?+(c+1D?=0
(a+1=0 [a=-1
IHAMMS <b+1=0 y<b=-1

c+1=0 c=-1

S — 3.2011 n b2012 n C2013

_ (_1)2011 4 (_1)2012 n (_1)2013
=-1+1-1=|-1

67. 1nGj0G§S a,b,c tHruigaga
a+b+c=1, a®+b°+c*=18na’+b*+c’ =19

annsaigisaignu P =a®t + b 4+ ¢ 4

& JImefant
fahitalug

(a+b+c)Y =a’+b*+c+3(a+b)(b+c)(c+a)
i5m s 1° =1+3(@+b)(b+c)(c+a)

s16j (a+b)(b+c)(c+a)=0

ImOmMms a+b=0iyb+c=0yc+a=0
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> AN a+b=0 1t a+b+c=1
sigjc=1,a°+b°=011:a=0,b=0
HBIes P = (0)%0 4 (0)%M + ()22 =1
> AN b+c=0 Uit a+b+c=1
sigja=1,b°+c*=01:b=0,c=0
HGie: P= 0% + (0)2 4 (0)P12 =1
> AinN c+a=0 1w a+b+c=1
sigjb=1,a°+c*=011:a=0,c=0
HBIes P =(0)%0 + (2 4 (0212 =1
puiuEn | P=1] 9

68. 1G] a, b, ¢ thiiNes{H HUTISHIManty s
st a® +b® +c¢® —3abc=0 9 GIMUPIA§Es
{AIMANIs: 9

&S GInmefant
MYl edumn

a’+b*+c®—3abc=(a+b+c)@* +b*+c®—ab-hc—-ca)
I5MS (a+b+c)(@® +b*+c*—ab—bc—ca)=0
Ity a+b+c>0

1S1: a° +b®+c®—ab—bc—ca=0

sigj 2(a® +b° +c® —ab—bc—ca)=0
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2a° +2b2+2c2—2ab—2bc—2ca:0
a’ —2ab+b®+b%>—2bc+c®+c®—-2ca+a’=0
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(a-b=0 [a=b
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& GImefant
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(a+b)*>—4(a+b)+4+(a+30)*-10(a+3b)+25=0
(a+b-2)*+(a+3b-5)°=0
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a+bh-2=0 a+bh=2
a+3b-5=0 |a+3b=5

2a+4b=7

JGIS: [2a+4b=7|
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70. 10 a+b+c=1gipnwugnatha’ +b* +¢° >

&S M S U
I5S a+b+c=1816j (a+b+c)* =1
a’ +b% +c?® +2ab+2bc+2ca=1

a® +b”+c? =1-2ab—2bc—2ca (*)

(a-b)2>0 [a?+b?>2ab (1)
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(c—a)zzo c +a?>2ca (3)
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2a% +2b% +2c? >2ab+2bc+2ca  (**)
UAHN SHHRINN () SH (**) mms
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JGIs: |’ +b* + ¢ 2|
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((a-b)2>0 [a?+b%>2ab (1)
ot <(b—c)?>0 , <b>+c*>2bc (2)
(c—a)220 c +a’>2ca (3)
Unﬁt‘lsiﬁﬁt‘]mﬁ 1), (Z)Sta (3) Imms

2a” + 2b® + 2¢* > 2ab + 2bc + 2ca

a’+b®+c°>ab+hc+ca (4)
yAHR SN Nits (4)§i12ab +2be + 2ca 1HEMS

a® +b® +c? + 2ab + 2bc + 2ca > 3(ab + bc + ca)
(a+b+c)® >3(ab+bc+ca)

G182 |(a+b+c)” =3(ab+bc+ca)|
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& GImefant
IHENS a+b>1
1912 (a+b)°>1 ,a*+2ab+b°>1 (1)
5 (a—b)?>>0, a*+b*>2ab (2)
yanHnSHnmn () Su (2) mms
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